HA1: 5\ 9, 74-20 B3
AREEEINCEAN KEND, Tlﬁé\{n{]
{187 r 22 'z '

. 4n U 2) <-3,%> | |
6 —HgZK%%) ]4-2\,\%>l

2. B+ Zh= 5,05 4246,2y = =4, 1) |

13, 35 -5F¢ ﬁ?» 3<-3,-85-52%.05 + {62
33 44, RECE 40,0 + L, 7_;- \4 156,157

4 Zh 4 'th 230> ¥ {355 -2KH0, 2y
J <\u o>r< 55y +<\3 Gy = \<6\ —\\3}

11N A 1@ F-<Aoy © R, Tu)]
0 INO7| | 5:‘1 2476,94> [
4] 1, W=, 1105 \
4

M. N 42,9 a5. N 4\ 5
Re—e—2-2,9) |1 ,Z )
-2 S
P ﬂ \ <—_@)-5S@ﬂ
2L V= [4\n7 oL ﬁl‘d-s, 45
S '+ O o
Uommdity g 4"’);’”
i 2 11|
J35_ . s : <’"5_‘3 5
= 1 ) A
< 50 ° B
"/\"5'- \1_3.\



2%, D(4,-D B (5,1
De=<1,-LY 5?=W
. [D(A-)] E (-],2)
B = {-16,§> BE |-lut -85 ]
36. D(3.\0) B(-2,-%)
BE - <-5,-8) Be--57-195 |

< _
3uTi\ écb\?,-tw
S r R30S

]‘ = 0,53.@

= } <’“5.;l) %.2;\

3 a) 0,53+ 3,0y N3/52
Cl ;j*g Wi 278> = {84 mph
f‘ ~|5. oo
DL v nee s |5 &rmvph |
6= tan™ (%)"5‘*-03‘:




